=
<

a(o @) (rad)
a(d cot(d))

Ratio
Ratio

E ] R (TG 35T T | SRR

N Lt . Eoidl Lt AL

PO 111 SN 0 s |
N h : L[FF : h 0.8 ; i ¥

-3 -2 -1 0 1 2 3 -3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
—=— DQM_mKkFit_baseline

—— DQM_mkFit_baseline6iter
—— DQM_mkFit_TT_RetrainV2_WP2_6iter_ep3

z

SICEWACL
aloa,) (cm)

107}

; R PO o 0 | A

Ratio
=
T
Ratio

0.8f------- FoH- LA R A RE - -t -5 e T O 01
L : : 4 : : {I REREEE EREE |2 88 -HIE R - v

0.6------- DA IR 1Y R | D F
-3 =2 -1 0 1 2 3 83— =" -1 0 1 2 3

TP n (PCA to beamline) TP n (PCA to beamline)

o p/p.)

..........

I J ________

1 2 3
TP n (PCA to beamline)




	Contents
	Page 1


